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As Summary, expected performance levels in Shariati Hospital are as follows:

- B-1 (N-B for Non-Structural & S-1 for Structural Components) for acceleration

Design response spectra of BSE-1 (10%/50 years) multiplied by 1.15.

- -3 (N-C for Non-Structural & S-3 for Structural Components) for acceleration

Design response spectra of BSE-2 (2%/50 years) multiplied by 1.15.

- A-1 (N-A for Non-Structural & S-1 for Structural Components) for acceleration

Design response spectra of BSE-0 (50%/50 years) multiplied by 1.15.

More explanation about the performance level and required analysis is presented in

following section.
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L 04x1x1163x 1042 x 1.4( . 57.34> ik
pu = 25 6553/ g
Vpumin = 0.3 X 1.163 X 1042 X 1.4 = 509 kg

Vpumax = 1.6 X 1.163 X 1042 x 1.4 = 2714 kg
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Part-B
Initial Design 10- Level control LS- Level control
Drift control-Center of Mass Drift control-Center of Mass Drift control-Center of Mass
Load Load
- CE::/CO DriftX | Drifty or &::/c DriftX | DriftY - c:::/ch DriftX | Drifty
% <0.00363 | <0.00363 ¥ °l <001 | <001 0 <002 | <0.02
i mbo mbo mbo
Story-11 { SxMax | 0.00142 | 0.00003 Story-11 | SxMax | 0.00417 | 0.00006 Story-11 | Sx Max | 0.00809 { 0.00015
Story-11 { Sy Mex | 0.00000 | 0.00195 Story-11 | Sy Max | 0.00003 | 0.00727 Story-11 | Sy Max | 0.00013 | 0.01418
Story-10 | Sx Max | 0.00144 | 0.00003 Story-10 | SxMax | 0.00427 | 0.00006 Story-10 | Sx Max | 0.00820 | 0.00014
Story-10 { Sy Max | 0.00000 | 0.00194 Stary-10 | Sy Max | 0.00003 | 0.00724 tory-10 | Sy Max | 0.00013 | 0.01401
Story-S Sx Max | 0.00145 | 0.00003 Story-S | SxMax | 0.00428 | 0.00006 Story-9 | SxMax | 0.00817 [ 0.00014
Story-9 | SyMax | 0.00000 | 0.00190 Story-S | Sy Max | 0.00003 | 0.00706 Story-9 | SyMax | 0.00013 | 0.01353
Siery-8 | SxMax | 0.00141 | 0.00003 Story-€ | SxMax | 0.00412 | 0,00006 Story-8 | SxMax | 0.00784 | 0.00014
tory-8 i Sy Max | 0.00000 | 0.00182 tory-8 | Sy Max | 0.00002 | 0.00671 Story-8 | Sy Max | 0.00012 | 0.01272
Story-7 { SxMax | 0.00137 | 0.00003 _Story-7 | SxMax | 0.00398 | 0.00006 Story-7 | SxMax | 0.00755 | 0.00014
Story-7 { SyMax | 0.00000 | 0.00172 Story-7 | SyMax | 0.00002 | 0.00628 Stary-7 | Sy Max | 0.00012 | 0.01179
Story-6 | SxMax | 0.00132 | 0.00003 Story-6 | SxMax | 0.00377 | 0.00006 Story-6 | SxMax | 0.00711 | 0.00013
Story-6 | Sy Max | 0.00000 | 0.00160 tory-6 | Sy Max | 0.00002 | 0.00572 Story-6 | Sy Max | 0.00011 | 0.01064
Story-5 | SxMax | 0.00125 | 0.00003 Story-5 | SxMax | 0.00348 | 0.00006 Story-5 | Sx Max | 0.00655 | 0.00013
Story-S | SyMax | 0.00000 | 0.00146 Story-5 | SyMax | 0.00001 | 0.00506 Story-5 | Sy Max | 0.00011 | 0.00934
Story-4 | SxMax | 0.00115 | 0.00003 Story-4 | SxMax | 0.00308 | 0.00006 Story-4 | Sx Max | 0.00582 | 0.00012
tory-4 + Sy Max | 0.00000 | 0.00130 Story-4 | SyMax | 0.00001 | 0.00431 Story-4 | Sy Max | 0.00010 | 0.00799
tory-3 | SxMax | 0.00107 | 0.00003 Story-3 | SxMax | 0.00274 | 0.00006 Story-3 | SxMax | 0.00517 | 0.00012
Story-3 | Sy Max | 0.00000 | 0.00113 Story-3 | Sy Max | 0.00001 | 0.00347 Story-3 | SyMax | 0.00008 | 0.00656
Story-2 | SxMax | 0.00098 | 0.00003 Story-2 | SxMax | 0.00238 | 0.00005 Story-2 | Sx Max | 0.00448 | 0.00010
Story-2 | Sy Max | 0.00000 | 0.00103 Story-2 | Sy Max | 0.00001 | 0.00257 Story-2 | Sy Max | 0.00008 | 0.00568
Story-1 | SxMax | 0.00085 | 0.00002 Story-1 | Sx Max | 0.00202 | 0.00004 Story-1 | SxMax | 0.00371 | 0.00007
Story-1 | SyMax | 0.00000 | 0.00086 Story-1 | SyMax | 0.00001 | 0.00238 Story-1 | SyMax | 0.00006 | 0.00459
Story-0 | Sx Max | 0.00059 | 0.00002 Story-0 | SxMax | 0.00143 | 0.00003 Story-0 | Sx Max | 0.00263 | 0.00006
Story-0 | SyMax | 0.00000 | 0.00062 Story-0 | Sy Max | 0.00000 | 0.00173 Story-0 | SyMax | 0.00005 | 0.00337
Base-1 | SxMax | 0.00030 | 0.00001 Base-1 | SxMax | 0.00083 | 0.00002 Base-1 | SxMax | 0.00144 | 0.00004
Base-1 | SyMax | 0.00000 | 0.00029 Base-1 | Sy Max | 0.00000 | 0.00087 Base-1 | SyMax | 0.00003 | 0.00165
Slad cayyo poliaes :¥-F S
Bgd o0 Aoy Jgdo Djgo 4 il o S s (Olab gl a4 axg b
YA- - pylusbivel Gabo ddgl 2y - yguuiliol 85yls 455 0l (S 08 AT &) e
Drift(x) | Drift(y) | (cm)dido gyl | (x) (oud ORapudS | (y) ol O8apads | (X) S OKapusS | (y) S ORopuss
Story- | Ex | 0.0014 0 476 0.67592 0 6.99533 0
1 Ey 0 0.00195 476 0 0.9282 0 8.43217
Story- Ex | 0.0014 0 476 0.68544 0 6.31941 0
10 Ey 0 0.00194 476 0 0.92344 0 7.50397
Ex | 0.0015 0 476 0.6902 0 5.63397 0
Story-9
Ey 0 0.0019 476 0 0.9044 0 6.58053
Ex | 0.0014 0 476 0.67116 0 4.94377 0
Story-8
Ey 0 0.00182 476 0 0.86632 0 5.67613
st ; Ex | 0.0014 0 476 0.65212 0 4.27261 0
ory-
Ey 0 0.00172 476 0 0.81872 0 4.80981
s 6 Ex | 0.0013 0 476 0.62832 0 3.62049 0
tory-
Ey 0 0.0016 476 0 0.7616 0 3.99109
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Storv-5 Ex | 0.0013 0 476 0.595 0 2.99217 0
ory-

Y Ey 0 0.00146 476 0 0.69496 0 3.22949

Ex | 0.0012 0 476 0.5474 0 2.39717 0
Story-4

Ey 0 0.0013 476 0 0.6188 0 2.53453

Ex | 0.0011 0 476 0.50932 0 1.84977 0
Story-3

Ey 0 0.00113 476 0 0.53788 0 1.91573

Ex | 0.001 0 476 0.46648 0 1.34045 0
Story-2

Ey 0 0.00103 476 0 0.49028 0 1.37785

st 1 Ex | 0.0009 0 476 0.4046 0 0.87397 0
ory-

y Ey 0 0.00086 476 0 0.40936 0 0.88757

Ex | 0.0006 0 493 0.29087 0 0.46937 0
Story-0

Ey 0 0.00062 493 0 0.30566 0 0.47821

B 0 Ex | 0.0003 0 595 0.1785 0 0.1785 0
ase-

Ey 0 0.00029 595 0 0.17255 0 0.17255

Jlsl EY 5EX clo oL L, SAP2000 asbs; s typel cle Jowo yo o5 4S5 Ll 4 b 50y oy

(F ) OYl olad 10) ) £45 6,105,0 40 U35 wlB g 5,b Jboel  $—1-Y—F
32 4 Sl gy b plojen b YA+ s libinl p)lez ialng )0 pj alaly Geb 45 30 adlge
gl ool il
E,, = 0.2A(1 + S)L,W,

Ol 0 00lo mrdgs J8 slo (A ;0 398 sla el )b

E,y, = 0.2 x1.163 X 1.4 X W, = 0.325W,
S52yd ABl oo 0y g 00 ye B slasl ke ¢ gy 0al ools sy L sl isu j0 a5 W, luie
Card Wl oo a8,F Sl il g B W5 g9 S oyl S5 o e (NS L S S 0 oS

s, a0 ity B b S 3 oS Bk 58 g o b S 0.325 L e 5 a5 e slal
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| ).b.\ébu.u }Jgﬁl&odlh ‘_5._11').50 (_5").3 slSA L ‘53-19 [ )'spok L;].b dﬂb‘;lg_buuw ﬁbﬁoii—‘l JQJ..?-

Spectral Acceleration (g)

. Damping Ratio
Period (s) 2% % T 5% 8%
0 0.4652 0.4652 0.4852 0.4652
0.08 (To) 1.3252 1.2197 1.0893 0.9646
0.1 1.4266 1.3087 1.1629 1.0235
0.2 1.4266 1.3087 1.1629 1.0235
0.3 1.4266 1.3087 1.1629 1.0235
0.4 1.4266 1.3087 1.1629 1.0235
0.42 (Ts) 1.4266 1.3087 1.1629 1.0235
05 1.2758 1.1704 1.0400 0.9153
0.6 1.0632 0.9753 0.8667 0.7628
0.7 0.9113 0.8360 0.7429 0.6538
0.8 0.7974 0.7315 0.6500 0.5721
0.9 0.7088 0.6502 0.5778 0.5085
1 0.6379 0.5852 0.5200 0.4577
1.5 0.4253 0.3901 0.3467 0.3051
2 0.3189 0.2926 0.2600 0.2288
25 0.2552 0.2341 0.2080 0.1831
3 0.2126 0.1951 0.1733 0.1526
4 0.1595 0.1463 0.1300 0.1144
5 0.1276 0.1170 0.1040 0.0915

2

Vsl o olKi3la sy il Ols Jgam 1 ¥-F IS

,_
in
1

[u—

©
h

mmm Dampig Ratio : 2%, 8,=0.81519
6,=0.88861
8=1
3,=1.1362

= =Dampig Ratio : 3%,
Dampig Ratio : 5%,

== =Dampig Ratio : 8%,
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Y ha g 3 Gilises GUb o3hee (5ly DS Ly 8308 005 Yged 51y il il LS y33lis 01 Jaas

. Damping Ratio
Period (s) 2% 3% = 5% 8%
0 0.7730 0.7730 0.7730 0.7730
0.09 (Ty) 2.3706 21747 1.9325 1.7008
0.1 2.3706 21747 1.9325 1.7008
0.2 2.3706 21747 1.9325 1.7008
0.3 2.3706 21747 1.9325 1.7008
04 2.3706 21747 1.9325 1.7008
0.45 (Ts) 2.2078 2.0253 1.7997 1.5840
0.5 1.9870 1.8228 1.6108 1.4256
0.6 1.6558 1.5190 1.3498 1.1880
0.7 1.4193 1.3020 1.1570 1.0183
0.8 1.2419 1.1392 1.0123 0.8910
0.9 1.1039 1.0127 0.8999 0.7920
1 0.9935 0.9114 0.8099 0.7128
15 0.6623 0.6076 0.5399 0.4752
2 0.4967 0.4557 0.4049 0.3564
25 0.3974 0.3646 0.3240 0.2851
3 0.3312 0.3038 0.2700 0.2376
4 0.2484 0.2278 0.2025 0.1782
5 0.1987 0.1823 0.1620 0.1426
Vst gl )0 oSle ohg (b Gl Jgoz : 0-F IS
3 ) ) ) I L] I I I I
Syyg = 1.93. S, =0.81 _Dam;:u:gRah:n :zﬂ,-i:,: ..-:-;1=D_81519
st = =Dampiz Fatio : 3%, _.'31=D.88861 i

«seee Dampig Batio - 5%, _.":!1=1
= == Dampig Ratio : 8%, 3,=1.1362
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=
L]

Period (sec)

Y s b o olS25 Lo oy hab olis 1 S-F S

AR



YoV ) by ww sla,guwslwl

(typEZ) 10 S Slos b Cdlo g jhs mhw glp ile 6,185 ,0 Jlo<! \-Y-Y-¥

Vb (sl gylas,L o

VAT

p %AW
p Rp

oS el Y-Y &éq)odfu’_b.g‘ﬁ)é*be Saie (S oolatwl  Selins Judo 5l pusless a5 90,0

03.».» ° Ml?bo Sl 03U 00)51

2x
A, =045, (1 + 7)

el

2X
| 04a, Syl W [14+50
E, = -

p

VFe V-1 Jpor gb ap = 1

Y9 4 \-Y-Y-V-4 an 5k [, = 1.4
Yo 4,80 Y-0 Jsoz Gb Ry =3

} s a1y Ses = 1.163

Y s w61y Sys = 1.93

Sy osle YT ol (59 p5lez Sy s Jolas a5 e0ymlS 05 5 09 50 sla )l gemme Wi (sloj ) )3 i
VT 2l U5 039 eadsl 9,510 & azsi b gt (oo dlne 5 Sjgo 4 alilaz 50 4y 5l o
4166 u}” Q.QT U)5 )wLmT R 6‘).’ u.").»l.u ML’ < 12500 kg L»).:b.’ R )LS )WL.JT dw 6‘).’ o)Lw

Yo



YoV ) by ww sla,guwslwl

clus alflax o3le oyl SO 6l oy ) 059 5l U (Bl b aS Conl cailin o gile oo Cpx
Jlosl 881 slo B @y jguilil 5l (sl 030 (039 51 86 il b 5 955 Jlosh o gt 4y 5 35

209 Jloe!l (281 sl MU 4y 5 dnlone Al &g 4y 3 Jolad g (il b ioren 9 090
Dbl oS & 0,15 (il 595
ygailol 005 g 03 50 )b 51 SBU (sl o5 (339
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Part-B
Initial Design 10- Level control LS- Level control
Drift control-Center of Mass Drift control-Center of Mass Drift control-Center of Mass
Load Load Load
Story | Case/Co Drift X | Drifty sty | ciapes Drift X | DriftY Story | Case/Co Drift X | DriftY
! <0.00363 | <0.00363 <0.01 <0.01 <0.02 <0.02
i mbo mbo mbo
Story-11 { sxMax | 0.00142 | 0.00003 Story-11 | SxMax | 0.00417 | 0.00006 Story-11 | Sx Max | 0.00809 { 0.00015
Story-11 { Sy Max | 0.00000 | 0.00195 Story-11 | Sy Max | 0.00003 | 0.00727 Story-11 | Sy Max | 0.00013 | 0.01418
Story-10 | SxMax | 0.00144 | 0.00003 Story-10 | SxMax | 0.00427 | 0.00006 Story-10 | Sx Max | 0.00820 | 0.00014
Story-10 { Sy Max | 0.00000 | 0.00194 Stary-10 | Sy Max | 0.00003 | 0.00724 tory-10 | Sy Max | 0.00013 | 0.01401
Story-© | SxMax | 0.00145 | 0.00003 Story-8 | SxMax | 0.00428 | 0.00006 Story-9 | SxMax | 0.00817 | 0.00014
Story-9 | SyMax | 0.00000 | 0.00190 Story-S | SyMax | 0.00003 | 0.00706 Story-9 | SyMax | 0.00013 | 0.01353
Siery-8 ' Sx Max | 0.00141 | 0.00003 Story-8 | SxMax | 0.00412 | 0,00006 Story-8 | SxMax | 0.00784 | 0.00014
tory-8 | Sy Max | 0.00000 | 0.00182 Story-8 | SyMax | 0.00002 | 0.00671 Story-8 | Sy Max | 0.00012 | 0.01272
Story-7 { SxMax | 0.00137 | 0.00003 tory-7 | SxMax | 0.00398 | 0.00006 Story-7 | SxMax | 0.00755 | 0.00014
Story-7 1 SyMax | 0.00000 | 0.00172 i Story-7 | SyMax | 0.00002 | 0.00628 Stary-7 | Sy Max | 0.00012 | 0.01179
Story-6 i SxMax | 0.00132 | 0.00003 Story-6 | SxMax | 0.00377 | 0.00006 Story-6 | Sx Max | 0.00711 | 0.00013
Story-6 | SyMax | 0.00000 | 0.00160 tory-6 | Sy Max | 0.00002 | 0.00572 Story-6 | Sy Max | 0.00011 | 0.01064
Story-5 ! sxmax | 0.00125 | 0.00003 Story-5 | SxMax | 0.00349 | 0.00006 Story-5 | Sx Max | 0.00655 | 0.00013
Story-S | Sy Max | 0.00000 | 0.00146 Story-5 | SyMax | 0.00001 | 0.00506 Story-5 | Sy Max | 0.00011 | 0.00934
Story-4 | SxMax | 0.00115 | 0.00003 Story-4 | SxMax | 0.00308 | 0.00006 Story-4 | SxMax | 0.00582 | 0.00012
tory-4 + Sy Max | 0.08000 | 0.00130 Story-4 | Sy Max | 0.00001 | 0.00431 Story-4 | Sy Max | 0.00010 | 0.00799
tory-3 | SxMax | 0.00107 | 0.00003 Story-3 | SxMax | 0.00274 | 0.00006 Story-3 | SxMax | 0.00517 | 0.00012
Story-3 | Sy Max | 0.00000 | 0.00113 Story-3 | Sy Max | 0.00001 | 0.00347 Story-3 | SyMax | 0.00008 | 0.00656
Story-2 | SxMax | 0.00098 | 0.00003 Story-2 | SxMax | 0.00238 | 0.00005 Story-2 | SxMax | 0.00448 | 0.00010
Story-2 | SyMax | 0.00000 | 0.00103 Story-2 | SyMax | 0.00001 | 0.00257 Story-2 | Sy Max | 0.00008 | 0.00568
Story-1 | SxMax | 0.00085 | 0.00002 Story-1 | Sx Max | 0.00202 | 0.00004 Story-1 | SxMax | 0.00371 | 0.00007
Story-1 | SyMax | 0.00000 | 0.00086 Story-1 | Sy Max | 0.00001 | 0.00238 Story-1 | SyMax | 0.00006 | 0.00459
Story-0 | SxMax | 0.00059 | 0.00002 Story-0 | SxMax | 0.00143 | 0.00003 Story-0 | SxMax | 0.00263 | 0.00006
Story-0 | SyMax | 0.00000 | 0.00062 Story-0 | Sy Max | 0.00000 | 0.00173 Story-0 | SyMax | 0.00005 | 0.00337
Base-1 | SxMax | 0.00030 | 0.00001 Base-1 | SxMax | 0.00083 | 0.00002 Base-1 | SxMax | 0.00144 | 0.00004
Base-1 | Sy Max | 0.00000 | 0.00029 Base-1 | Sy Max | 0.00000 | 0.00087 Base-1 | SyMax | 0.00003 | 0.00165
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Drift(x) | Drift(y) aib ¢ las)l oo Oy o Oy S OBy S Oy
(cm) (x) (y) (x) (y)
Story- | 101X | 0.00417 0 476 1.98492 0 19.4344 0

11 |01y 0 0.00727 476 0 3.46052 0 29.20226
Story- | 101X | 0.00427 0 476 2.03252 0 17.44948 0

10 | 101y 0 0.00724 476 0 3.44624 0 25.74174
|01X | 0.00428 0 476 2.03728 0 15.41696 0

oS oty 0 0.00706 476 0 3.36056 0 22.2955
I01X | 0.00412 0 476 1.96112 0 13.37968 0

Story-8 l01Y 0 0.00671 476 0 3.19396 0 18.93494
I01X | 0.00398 0 476 1.89448 0 11.41856 0

Story-7 101Y 0 0.00628 476 0 2.98928 0 15.74098
l01X | 0.00377 0 476 1.79452 0 9.52408 0

MoVe Moy 0 0.00572 476 0 2.72272 0 12.7517
|01X | 0.00349 0 476 1.66124 0 7.72956 0

OV oty 0 0.00506 476 0 2.40856 0 10.02898
Story-4 I01X | 0.00308 0 476 1.46608 0 6.06832 0

101Y 0 0.00431 476 0 2.05156 0 7.62042
|01X | 0.00274 0 476 1.30424 0 4.60224 0

o3 Moy 0 0.00347 476 0 1.65172 0 5.56886
Story-2 I01X | 0.00239 0 476 1.13764 0 3.298 0

101Y 0 0.00297 476 0 1.41372 0 3.91714
101X | 0.00202 0 476 0.96152 0 2.16036 0

Story-1 101Y 0 0.00238 476 0 1.13288 0 2.50342
l01X | 0.00143 0 493 0.70499 0 1.19884 0

o0 Ry 0 0.00173 493 0 0.85289 0 1.37054
Base.g | 10X | 0.00083 0 595 0.49385 0 0.49385 0

101Y 0 0.00087 595 0 0.51765 0 0.51765
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Part-B
Initial Design 10- Level control LS- Level control
Drift control-Center of Mass Drift control-Center of Mass Drift control-Center of Mass
Load - . Load : p Load o "
Story | Case/Co DriftX | Drifty sy | ctafes Drift X | DriftY Story | Case/Co Drift X | DriftY
| <0.00363 | <0.00363 <0.01 <0.01 <0.02 <0.02
i mbo mbo mbo
Story-11 { SxMax | 0.00142 | 0.00003 Story-11 | SxMax | 0.00417 | 0.00006 Story-11 | Sx Max | 0.00809 | 0.00015
Story-11 { Sy Max | 0.00000 | 0.00195 Story-11 | Sy Max | 0.00003 | 0.00727 tory-11 | Sy Max | 0.00013 | 0.01418
Story-10 | SxMax | 0.00144 | 0.00003 Stary-10 | SxMax | 0.00427 | 0.00006 Story-10 | Sx Max | 0.00820 | 0.00014
Story-10 { Sy Max | 0.00000 | 0.00194 Story-10 | Sy Max | 0.00003 | 0.00724 tory-10 | Sy Max | 0.00013 | 0.01401
Story-S | SxMax | 0.00145 | 0.00003 Story-S | SxMax | 0.00428 | 0.00006 Story-9 | SxMax | 0.00817 [ 0.00014
Story-9 | SyMax | 0.00000 | 0.00190 tory-S | Sy Max | 0.00003 | 0.00706 Story-9 | Sy Max | 0.00013 | 0.01353
Siery-8 | SxMax | 0.00141 | 0.00003 Story-€ | SxMax | 0.00412 | 0,00006 Story-8 | SxMax | 0.00784 | 0.00014
tory-8 1 Sy Max | 0.00000 | 0.00182 tory-2 | Sy Max | 0.00002 | 0.00671 Story-8 | SyMax | 0.00012 | 0.01272
Story-7 | SxMax | 0.00137 | 0.00003 tory-7 | SxMax | 0.00398 | 0.00006 Story-7 | SxMax | 0.00755 | 0.00014
Story-7 { SyMax | 0.00000 | 0.00172 3 tory-7 | SyMax | 0.00002 | 0.00628 Stary-7 | SyMax | 0.00012 | 0.01179
Story6 | SxMax | 0.00132 | 0.00003 Story-6 | SxMax | 0.00377 | 0.00006 Story-6 | SxMax | 0.00711 [ 0.00013
Story-6 | Sy Max | 0.00000 | 0.00160 tory-6 | Sy Max | 0.00002 | 0.00572 Story-6 | Sy Max | 0.00011 | 0.01064
Story-5 | SxMax | 0.00125 | 0.00003 Story-5 | SxMax | 0.00349 | 0.00006 Story-5 | Sx Max | 0.00655 | 0.00013
Story-S | SyMax | 0.00000 | 0.00146 Story-5 | Sy Max | 0.00001 | 0.00506 Story-5 | Sy Max | 0.00011 | 0.00534
Story-4 | SxMax [ 0.0011S | 0.00003 Story-4 | SxMax | 0.00308 | 0.00006 Story-4 | SxMax | 0.00582 | 0.00012
tory-4 1+ Sy Max | 0.00000 | 0.00130 Story-4 | SyMax | 0.00001 | 0.00431 Story-4 | Sy Max | 0.00010 | 0.00799
tory-3 | SxMax | 0.00107 | 0.00003 Story-3 | SxMax | 0.00274 | 0.00006 Story-3 | Sx Max | 0.00517 | 0.00012
Story-3 | Sy Max | 0.00000 | 0.00113 Story-3 | Sy Max | 0.00001 | 0.00347 Story-3 | SyMax | 0.00008 | 0.00656
Story-2 | SxMax | 0.00098 | 0.00003 Story-2 | SxMax | 0.00239 | 0.00005 Story-2 | SxMax | 0.00448 | 0.00010
Story-2 | Sy Max | 0.00000 | 0.00103 Story-2 | Sy Max | 0.00001 | 0.00257 Story-2 | SyMax | 0.00008 | 0.00568
Story-1 | SxMax | 0.00085 | 0.00002 Story-1 | Sx Max | 0.00202 | 0.00004 Story-1 | SxMax | 0.00371 | 0.00007
Story-1 | SyMax | 0.00000 | 0.00086 Story-1 | Sy Max | 0.00001 | 0.00238 Story-1 | Sy Max | 0.00006 | 0.00459
Story-0 | SxMax [ 0.00059 | 0.00002 Story-0 | SxMax | 0.00143 | 0.00003 Story-0 | Sx Max ! 0.00263 | 0.00006
Story-0 | Sy Max | 0.00000 | 0.00062 Story-0 | Sy Max | 0.00000 | 0.00173 Story-0 | Sy Max | 0.00005 | 0.00337
Base-1 | SxMax | 000030 | 0.00001 Base-1 | SxMax | 0.00083 | 0.00002 Base-1 | SxMax | 0.00144 | 0.00004
Base-1 | Sy Max | 0.00000 | 0.00029 Base-1 | Sy Max | 0.00000 | 0.00087 Base-1 | SyMax | 0.00003 | 0.00165

Slib cady s polie s A-F S
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P9 (oo dnlre 3 Jouz Sgo 4 alb o e et Olib gl 4 ax g L

LS 3yShos zebauw - ) guailanl 04315 4S5 D)l (5o 08 4SS Oyt

Drift(x) | Driftly) | GEE | oS oSand | i OBapds | S0Kands | S 0Bans

(cm) (x) (y) (x) (y)
Story- | LS2X | 0.00809 | 0.00015 476 3.85084 0.0714 36.75383 0.71026
11 | LS2Y | 0.00013 | 0.01418 476 0.06188 6.74968 0.59942 55.49344
Story- | LS2X | 0.0082 | 0.00014 476 3.9032 0.06664 32.90299 0.63886
10 | Ls2y | 0.00013 | 0.01401 476 0.06188 6.66876 0.53754 48.74376
Story- | LS2X | 0.00817 | 0.00014 476 3.88892 0.06664 28.99979 0.57222
9 | Ls2y | 0.00013 | 0.01353 476 0.06188 6.44028 0.47566 42.075
Story- | LS2X | 0.00784 | 0.00014 476 3.73184 0.06664 25.11087 0.50558
8 | Ls2v | 0.00012 | 0.01272 476 0.05712 6.05472 0.41378 35.63472
Story- | LS2X | 0.00755 | 0.00014 476 3.5938 0.06664 21.37903 0.43894
7 | 1s2y | 0.00012 | 0.01179 476 0.05712 5.61204 0.35666 29.58
Story- | LS2X | 0.00711 | 0.00013 476 3.38436 0.06188 17.78523 0.3723
6 | LS2y | 0.00011 | 0.01064 476 0.05236 5.06464 0.29954 23.96796
Story- | LS2X | 0.00655 | 0.00013 476 3.1178 0.06188 14.40087 0.31042
5 | LS2y | 0.0001 | 0.00934 476 0.0476 4.44584 0.24718 18.90332
Story- | LS2X | 0.00582 | 0.00012 476 2.77032 0.05712 11.28307 0.24854
4 [s2v | 0.0001 | 0.00799 476 0.0476 3.80324 0.19958 14.45748
Story- | LS2X | 0.00517 | 0.00012 476 2.46092 0.05712 8.51275 0.19142
3 | Ls2y | 0.00009 | 0.00656 476 0.04284 3.12256 0.15198 10.65424
Story- | LS2X | 0.00448 | 0.0001 476 2.13248 0.0476 6.05183 0.1343
2 | Ls2y | 0.00008 | 0.00568 476 0.03808 2.70368 0.10914 7.53168
Story- | LS2X | 0.00371 | 0.00007 476 1.76596 0.03332 3.91935 0.0867
1 | Ls2y | 0.00006 | 0.00459 476 0.02856 2.18484 0.07106 4.828
Story- | LS2X | 0.00263 | 0.00006 493 1.29659 0.02958 2.15339 0.05338
0 | Ls2y | 0.00005 | 0.00337 493 0.02465 1.66141 0.0425 2.64316
Saceo | 52X | 0.00144 | 0.00004 595 0.8568 0.0238 0.8568 0.0238
LS2Y | 0.00003 | 0.00165 595 0.01785 0.98175 0.01785 0.98175
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SAP )3 )b g8 & O 4 037u8 Jas- (ol b @% '
Ey9EX GUS s ggiw | 7.75 kg/m =mYLYAG - 3135
EysEX Ao s Ogiw | 15.50 kg/m =mVYLYAG - 5155
EysEX LS s Ogwe | 7.75 kg/m =mYY,V16 m)T,YA L)
Ey9EX Qe s 0giw | 15.50 kg/m =mYY,V16 m)T, YA L5 )l ) g9
Ey9EX SUS S ggiw | 9.28 kg/m =me,N e mYY, V5L | (typel)
Ey9EX Al s Ogiw | 18.56 kg/m =me9,) e B mYY, V1l )l
EysEX GOUS G Ogiw | 11.40 kg/m =m10,0Y G mea,) e 3l
Ey9EX Obe G Ogiw | 22.80 kg/m =m10,0Y G meq, Ve 31,55
101Y9101X OWS s Oy | 4.31kg/m =mVLYAG - 3L
101Y9101X Ao S g 8.63 kg/m =m\V YA - 3155
101Y5I01X GLS b Ogws | 6.04 kg/m =mYY, V16 mYT,YA S )
101Y9101X Gl 6 Ogiw | 12.09 kg/m =mYYVIEmM LYASL S| Y g
101Y9101X SO s Oy | 7.72 kg/m =meq, N e EmYY, V555 | (type2)
101Y9101X Ao G Ogiw | 15.44 kg/m =M, e B mYY, VIS5
I01Y3101X GUS B Jgiw 9.49 kg/m =m10,0Y Ume&q, e 3l )l
101Y4l01X Qo sl 0giw | 18.98 kg/m =m10,0Y B mea, V€ 51,5 )l
LS2Y3LS2X SHUS S ¢ giuw 9.2 kg/m =m\ YA - 315
LS2YLS2X Sl S Hgiuw 18.4 kg/m =mYLYAG - 3135
LS2Y3LS2X SHUS S ¢ giuw 9.2 kg/m =mYY, V16 mY YA LS S
LS2Y5LS2X Ao S Ygiw 18.4 kg/m =mYYVIEmVLYASLS S| Yes
LS2Y5LS2X SUS B Ogiw 9.2 kg/m =meq, Ve G mYY, V1555 | (type3)
LS2Y3LS2X Ao S Ogiw 18.4 kg/m =meq, Ve B mYY, Vs
LS2Y3LS2X SUS s Ogiw | 11.25 kg/m =m10,0Y 6 meq, V¢ 1,55
LS2Y4LS2X Qe S ggiw | 22.50 kg/m =m70,0Y Eméeq, V¢ 315 )l
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:K: Analysis Options
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